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00 (Deadline): 110 90 (0) 00000 (November 9 (Fri), 10:50)

00 (Note): 000000000000 DO0O0OODOOOOD0OOOOU0OOOOOODOOO(Do not forget

to handwrite your name, student ID, problem numbers, and answers on your report.)

Problem 1: 00 0000000000000 000O00O0O00O0O0O0O00OO0O0OODOO0OOO(Is each
of them correct or wrong? If it is correct, prove it. If it is wrong, produce counterevidence.)
1. 10n? +5n + 3 = O(n?) (1 point)
2. logn = O(n) (1 point)
3. n=0(logn) (1 point)
4

.00000000000000n! ~2m (2)" 000000 f(n) = \/27m() 00000
000 f(n) = O(n™) 0000 (Stirling’s formula tells us n! ~ v2n (2)". Let f(n) be a
function defined by f(n) = v27n (2)". Then, f(n) = O(n™).)(2 points)



